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Question: 01

Cinderella Mutual Fund has the following assets

in Scheme Rudolf at the close of business on 315
March, 2014.

Company |No. of Shares| Market Price
per Share
Nairobi Ltd. 25,000 X20
Dakar Ltd. 35,000 X 300
Senegal Ltd. 29,000 X 380
Cairo Ltd. 40,000 % 500

The total number of units of Scheme Rudol fare
10 lacs. The Scheme Rudolf has accrued
expenses of X 2,50,000 and other liabilities of X
2,00,000. Calculate the NAV per unit of the
Scheme Rudolf.

(Study Material, PM & MTP /



Question: 02

@tual Fund Co. has the following assets under it on the

close of business as on:
pa—— N

Company | No.of | 1° February |2" February 2012
Shares| 2012 Market | Market price per
price per share share X
at
L Ltd. |20,000 20.00 o 20.50
M Ltd. |[30,000 312.40 360.00
N Ltd. |20,000 361.20 383.10
PLtd. |60,000 505.10 503.90

Total No. of Units 6,00,000

(1) Calculate Net Assets Value (NAV) of the Fund.

(i1) Following information is given:

Assuming one Mr. A, submits a cheque of X 30,00,000
to the Mutual Fund and the Fund manager of this
company purchases 8,000 shares of M Ltd; and the
balance amount is held in Bank. In such a case, what

would be the position of the Fund?

(1i1)Find new NAV of the Fund as on 2nd February 2012.

(Study Material & PM)
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Shares

A Ltd.
B Ltd.
C Ltd.
D Ltd.
E Ltd.

No. of units of funds

Please calculate:

(a) NAV of the Fund on(1® April 2009. =

(b)Assuming that on 1* AEM' 009, @ a HNI,

send a cheque of X 50,00,000 to the F
—
Fund M r immedilately purchaseg 18000

shares . and balance 1s held in bank.
Then what will be position of fund.

Q:vw suppose on 2 April 2009 at the
arket price of shares is as follows?



Shares = §

A Ltd. 20.30
B Ltd. 513.70
C Ltd. 290.80
D Ltd. 671.90
E Ltd. 44.20
Then what will be new NAV.

(Study Material, PM & RTP November - 2019)
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tual Fund Company has the following assets under
1t op\the close of business as on:

1°' August 2017 | 2™ August 2017
No. of | Market price Market price
Shares | per share (X) per share (X)

Q Ltd. 2,000 200.00 205.00
R Ltd. 30,000 312.40 360.00
S Ltd. 40,000 180.60 191.55
T Ltd. 60,000 505.10 503.90

Total No. of Units 1ssued by the Mutual Fund 1s 6,00,000.
(1) Calculate Net Assets Value (NAV) of the Fund.
(11) Following information is also given:

Assuming that Mr. Zubin, an investor, submits a
cheque of X 30,00,000 to the Mutual Fund and the Fund
Manager of this entity purchases 8,000 shares of R Ltd;
and the balance amount 1s held in Bank. In such a
case, what would be the position of the Fund?

(iii) Calculate new NAV of the Fund as on 2"°_A t 2017.

(Exam May - 2018
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Ouestion: 04

The unit price of Equity Linked Savings Scheme
(ELSS) of a mutual fund is X 10/-.The public offer

price (POP) of the umt 1s X 10.204 and the

redemption price is X 9.80. -
Calculate:
: ©
(i)  Front-end Load (2 -Ol'l ﬁ)
U
(11) Backend Load ( 3 /-

(Study Material, PM & Exam May - 2018)
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QOuestion: 05
A mutual fund made an issue of 10,00,000 units of X 10

each on January 01, 2008. No entry load was charged.
It made the following investments:

Particulars X
50,000 Equity shares of X 100 each @ X 160 |80,00,000
1% Government Securities 8,00,000
9% Debentures (Unlisted) 5,00,000
10% Debentures (Listed) 5.00.,000

98.00,000

During the vyear, dividends of X 12,00,000 were
received on equity shares. Interest on all types of debt
securities was received as and when due. At the end
of the year equity shares and 10% debentures are
quoted at 175% and 90% respectively of face value.
Other investments are at par.

Find out the Net Asset Value (NAV) per unit given that
operating expenses paid during the year amounted to
X 5,00,000. Also find out the NAV, if the Mutual fund
had distributed a dividend of X 0.80 per unit during
the year to the unit holders.

(Study Material & PM)
(Page No.06)







Question: 06

A mutual fund made an issue of New Fund Offer
(NFO) on 01/01/2021 of 10.00 Lakh Units of X 10
each. No entry load was charged._it made the
following investments:

Particulars ()
25,000 Equity Shares of XYZ Ltd., X 100 (80,00,000
each @ X320

5% Government Securities 4,00,000
10% NCDs Unlisted 5,00,000
8% Listed Debentures 10,00,000

During the year, dividends of X 8.00 lakhs were
received on equity shares. Interest on all types of
debt securities were received. On 31%' December
2021 equity shares were appreciated by 15% while

listed debentures were quoted at 20% premium.
XYZ Ltd., on 15th December 2021 in 1i1its AGM
declared the interim dividend of 10% and bonus
shares at 1:10 with the record date of 28th
December 2021.
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Find out the NAV per unit as on 31st December
given that the operating expenses pafd during
the year amounting to|X 3,00,000.

Find out the NAV, if the MF had :ii?b/ted a

dividend of, X 0.50 per unit during the/year to
“
the investors.

(Exam May - 2022)
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Question: 01
Based on the following information, determine the
NAYV of a regular income scheme on per unit basis:

Particulars X
Crores
Listed shares at Cost (ex-dividend) 20
Cash in hand 1.23
Bonds and debentures at cost 4.3
Of these, bonds not listed and quoted 1
Other fixed interest securities at cost 4.5
Dividend accrued 0.8
Amount payable on shares 6.32
Expenditure accrued 0.75
Number of units (X 10 face value) 20 lacs
Current realizable value of fixed income 106.5
securities of face value of X 100
The listed shares were purchased when 1,000
Index was
Present index is 2300
Value of listed bonds and debentures at 8
NAV date




There has been a diminution of 20% 1in unlisted

bonds and dekentures. Other fixed interest
securities are @
(SM, PM & MTP April — 2022)
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Question: 11
A mutual fund that had a net asset value of

e
thg beginning of month - made income and capital
gain distribution of ¥ 0.0375 and X 0.03 per share
respectively during the month, and then ended the
month with a net asset value of X 20.06. Calculate

monthly return.

(Study Material & PM)
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Question: 12
An 1investor purchased 300 units of a Mutual Fund at

2 12.25 per unit on 31° December, 2009. As on 31%
December, 2010 he has received X 1.25 as dividend
and X 1.00 as capital gains distribution per unit.

Required :

(1) The return on the investment if the NAV as on
315" December, 2010 is ¥ 13.00.

(ii)The return on the investment as on 3I*
December, 2010.if all dividends and capital
gains distributions are reinvested into additional
units of the fund atX 12.50 per unit.

(Study Material & PM)
(Page No.16)
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Question: 13
SBI mutual fund has a NAV of X 8.50 at the beginning

of the year. At the end of the year NAV increases to
X 9.10. Meanwhile fund distributes X 0.90 as
dividend and X 0.75 as capital gains.

(1) What is the fund’s return during the year?

(11) Had these distributions been re-invested at an
average NAV of X 8.75 assuming 200 units were
purchased originally. What is the return?

" (Study Material & PM)
(Page No.18)



Question: 16

A Mutual Fund having 300 units has shown its NAV
of X 8.75 and X 9.45 at the beginning and at the end

of the year respectively. The Mutual Fund has given
two options:

(1) Pay X 0.75 per unit as dividend and X 0.60 per
unit as a capital gain, or

(11) These distributions are to be\reinvestyd'at an
average NAV of R 8.65|per unit.

What difference it would make in terms of return

available and(wgich option is preferablef.f )

(SM, PM & Exam November - 2018)
(Page No.20)




Orange purchased 200 units of Oxygen Mutual Fund
at T 45 per unit on 31% December, 2009. In 2010, he

received X 1.00 as dividend per unit and a capital
gains distribution of X 2 per unit.

Required:

(1) Calculate the return for the period of one year

assuming that the NAV as on 31 December 2010
was < 48 per unit.

(11) Calculate the return for the period of one year
assuming that the NAV as on 31 December 2010
was X 48 per unit and all dividends and capital
gains distributions have been reinvested at an
average price of X 46.00 per unit.

Ignore taxation.
(Practice Manual & RTP May - 2020)
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Question: 10

The following particulars relating to Vishnu Fund
Schemes:

Particulars Value X
in Crores
1. Investment in Shares (at cost)
a. Pharmaceuticals companies 79
b. Construction Industries 31
c. Service Sector Companies 56
d. IT Companies 34
E. Real Estate Companies 10

2. Investment in Bonds (Fixed Income)
a. Listed Bonds (8000, 14% Bonds of 12
X 15,000 each)

b. Unlisted Bonds 1
3. No. of Units outstanding (crores) 4.2
4. Expenses Payable 3.5
5. Cash and Cash equivalents 1.5

6. Market expectations on listed bonds | 8.842%




Particulars relating to each sector are as follows:

Sector Index on Index on
Purchase Valuation
Date Date
Pharmaceutical companies 260 465
Construction Industries 210 450
Service Sector Companies 275 480
IT Companies 240 495
Real Estate Companies 255 410

The fund has incurred the following expenses:

Consultancy and Management fees

Office Expenses
Advertisement Expenses

X 480 Lakhs
Z 150 Lakhs
Z 38 Lakhs

You are required to calculate the following:
(1) Net Asset Value of the fund
(11) Net Asset Value per unit

(iii) If the period of consideration is 2 years, and
the fund has distributed ¥ 3 per unit per year
as cash dividend, ascertain the Net return

(Annualized).

(1v) Ascertain the Expenses ratio.

(Exam May-2019)
(Page No.13)
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Question: 09
The following particulars relating to S fund
schemes:

Particulars Value X
in
Crores

1. Investment in shares (at cost)

a. Pharmaceuticals companies 158

b. Construction Industries 62

c. Service Sector Companies 112

d. IT Companies 68

e. Real Estate Companies 20
2. Investment in Bonds (Fixed Income)

a. Listed Bonds (8000, 14% Bonds of 24

X 15,000 each)

b. Unlisted Bonds 14
3. No. of Units outstanding (crores) 8.4
4. Expenses Payable ¥
5. Cash and Cash equivalents 3
6. Market expectations on listed bonds 8.842%

The fund has incurred the following expenses:

Consultancy and Management fees X 520 Lakhs

Office Expenses X 180 Lakhs
Advertisement Expenses X 48 Lakhs

H



Particulars relating to each sector are as follows:

Sector Index on Index on
Purchase date Valuation date

Pharmaceutical

Companies 300 500

Construction

Industries 215 490

Service Sector

Companies 285 500

IT Companies 270 515

Real Estate

Companies 265 440
Required:

(1) Calculate the Net Asset Value of the fund

(11) Calculate the Net Asset Value per unit

(11)Determine the Net return (Annualized), if the
period of consideration is 4 years, and the fund
has distributed X 2 per unit per year as cash
dividend during the same period.

Note: Calculate figure in X Crore upto 3 decimal
points.

(RTP May — 2021 & Exam May — 2019)
(Page No.l11)



Question: 14 ﬂ] 4 Y
The following information 1s extracted from Steady @ COJO'AQLO“ 0& ”ZE" eNn NA

Mutual Fund’s Scheme:

- Asset Value at the beginning P 15X = =

b
of the month -% 65.78 ]_ HPR = '9— '?5~/
- Annualized return -15 % A n NAV + '.[r\come
- Distributions made 1n the ) HFR =

o Fm NAV

nature of Income -2 0.50 and X 0.32 8
& Capital gain (per unit respectively). (' x - 657 8) +0-82-
You are required to: 0 . 0125 - 6‘5 ‘Z‘F g

(1) Calculate the month end net asset value of
the mutual fund scheme (limit your answers O 8 2 -(x - 6 S,?~g> .(.. 0 8 Z_
to two decimals).

(i)  Provide a brief comment on the month end . _ EF
NAV x = 6518

(Study Material & PM) @ NO ¢ ?fl N&U '
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Ouestion: 15

Mr. A has invested in three Mutual Fund Schemes as per

details below:

Particulars MF A MF B MF C
Date of investment 01/12/2009| 01/01/2010| 01/03/2010
Amount of investment X 50,000 2 1,00,000 % 50,000
Net Assets Value (NAV)
at entry date X 10.50 X 10 X 10
Dividend received upto
31/03/2010 X 950 X 1,500 Nil
NAV as at 31/03/2010 < 10.40 X 10.10] Z9.80
Required:

What is the effective yield on per annum basis 1n respect
of each of the three schemes to Mr. A upto 31/03/20107?

(Study Material & PM)
(Page No.19)







Question: 17

Mr. Sinha has invested in three Mutual fund schemes
as per details below:

Particulars Scheme X | SchemeY | Scheme Z

Date of investment | 01/12/2008| 01/01/2009|01/03/2009
Amount of
investment % 5,00,000 X 1,00,000 % 50,000
Net Assets Value
(NAV) at entry

date 2 10.50 < 10.00 X 10.00
Dividend received
upto 31/03/2009 % 9,500 % 1,500 Nil
NAV as at
31/03/2009 2 10.40 2 10.10 2 9.80

You are required to calculate the effective yield on per

annum basis 1n respect of each of the three schemes to
Mr. Sinha upto 31/03/20089.

(Study Material & PM)
(Page No.21)



Question: 18

Mr. Y has invested in the three mutual funds (MF) as per the

following details:

@© WNo-o} unitz

200600 .

Particulars Sc:h;me Sch;me Sch;me M Fx 1o 30 = lgl-' l? L';G Un ,h
Amount of Investment (X) | 2,00,000( 4,00,000| 2,00,000 .
NAV at the time of 10.30 10.10 10 400670 39603 -960 Uﬂl‘h.
purchase () MFY \ 0 |6
Dividend Received up to 6,000 0| 50,000|° " °
31.03.2018 ()
NAV as on 31.03.2018 (3) 10.25 10 10.20 F imm 20010 UN 'K
Effective yield per annum 9.66 -11.66 24.15 M Z
as on 31.03.2018 —
(percent)

® ‘_E»i__&&!
“’\FX 19447.4%6 % 0-25= 183629

| . | |: ~ 39603.960% [0 = 396090
(1) Number of units in each scheme; < 20 qm

Assume 1 Year = 365 days

Mr. Y has misplaced the documents of his investment. Help
him in finding the date of his original investment after
ascertaining the following:

(ii)  Total NAV;
(iii)
(1v)

Total Yield; and

Number of days investment held.

(SM, PM, MTP October — 2020 & Exam May — 2018)
(Page No.22)
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